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Section A-[Basic sKillg]
RECALL
Areaof acircle=
Circumference of acircle =
Areaof asemicircle =
Areaof asector =
Arc length of a sector =
Areaof atriangle=
Heron’sformulafor finding area of atriangle =
Areaof asquare=
Areaof minor segment =
Areaof maor segment =
Areaof equilatera triangle =

Section B -[Chapter based questions]
Pooja has a bicycle whose wheel s makes 5000 revolutions in moving 11km.Find the
diameter of the wheel.

A pendulum swings through an angle 60° and describes an arc 8.8cm in length. Find the
length of the pendulum.

Three horses are tied with 7m long ropes at the 3 corners of atriangular field having
sides 20m,34m,42m. Find the area of the plot which can be grazed by the horses. Also
find the area of the plot which remains ungrazed.

ABC isaright angled triangle with AB= 6 cm and AC =8 cm. A circle with center O
has been inscribed inside the triangle. Find the value of the radius of the inscribed circle.

In an equilatera triangle of side 24cm acircle isinscribed touching its sides. Find the
area of the remaining portion of the triangle.

A park isin the form of arectangle 120m by 100m.At the center of the park thereisa
circular lawn. The area of the park excluding the lawn is 11384 sg.m. Find the radius of
the circular lawn.

An athletic track , 14m widen, consists of two straight sections 120m long joining
semicircular ends whose inner radius is 35m.Calculate the area of the track.

Area enclosed between two concentric circlesis 770 cm?2.If the radius of the outer circle
is 21 cm,then find the radius of the inner circle.
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ABCD isafield in the shape of atrapezium AB ||CD and £ ABC=900, « DAB = 4

600 . Four sectors are formed with centres A , B, C and D . The radius of each sector is
17.5m . Find the

i)total area of four sectors.
i)area of the remaining portion given that AB =75 m and CD =50 m.

X A

C D
10. Find the area of the shaded region in each of the following figures. 3
1)PQRS is the diameter of acircle.Find i)
perimeter and area of the shaded region
PQ=QR=RS=4cm N
o
100cm
Q R S
20c
v
iv) iii)
s
B
A
Radius =14 cm
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AEASRELATED TO CIRCLES[HOT QUESTIONS]

1. A wireisin the shape of a square of perimeter 88 cmis bent so asto form acircular 2
ring. Find the radius of thering.

2. A park isin the form of arectangle of dimensions 120 m x 100 m. At the centre of 4
the park thereisacircular lawn as shown in the following figure. The area of the
park excluding the lawn is 8700 m?. Find the radius of the circular lawn.

22
Usemm= —
[ 7]

3. Three horses are tied with 7m long ropes at the 3 corners of atriangular field having 4
sides 20m ,34m , 42m. Find the area of the plot which can be grazed by the horses.
Also find the area of the plot which remains ungrazed.

4. Figure shows akite in which BCD is the shape of aquadrant of acircle of radius 4
42 cm. ABCD isasqguare and ACEF is an isosceles right angled triangle whose
egual sidesare 6 cm long. Find the area of the shaded region.
A

E F
5. An élastic belt is placed round the rim of a pulley of radius 5 cm. One point on the 4
belt is pulled directly away from the centre O of the pulley until itisat P, 10 cm
from O. Find the length of the belt that isin contact with the rim of the pulley. Also
find the shaded area.

A
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